0]

d
dsqrt{d

5 [pb,GeV ]

Ratio to ATLAS

= = =
o o @)
N w N

=
(@)

[EEY

0.5

8000 GeV pp Z (Drell-Yan)
:_I T TTI | I I T T TTT | I I T T TTT | I I T T %l 9
= =5
- Splitting scale\/dﬁ0 (71<m <111 GeV) 13
= 5
— dm
— . A\
= 49 o
- | =
= _anineatn -
= =S
= 3=
L o
= Ho
— -0m
— <
L — ™M
_ s
= ==}
— = ™M
— — <
~ .2
= =X
= m  ATLAS = %
| --3-- Herwig 7.2.1 default . _]©
= N = C
= ¢ Sherpa 2.2.9 default \\D = R0
- 50
I 1 wn
= = §
= 5 o
— 10
T — ————HHH | !!!!HEE
g 32
S . E
B H A

T v 1
|§! ".. pe ”’00 @Y : I
B ¢ * 7

m_* HER ¢
ggEEEE '§éagg
— . & EHEE 7
¢ B
- 0.‘.‘ . o =k - 0.5

L 1 1 L 1 | 1 ~|“|‘é| Lo

1 10 02 ¥

10
sqgrt{d_0} [GeV]



	Contents
	Page 1


